BEISPIEL 1:

ABSCHERUNG

GEG: Bundtram mit Sparren F=21kN ; Holz S10 ; b=8cm
Dachneigung a=40°

GES: Vorkopflange | ; Schubspannungsnachweis (Tzul=0,09kN/cm?)

FH=F . cos(a) =

FH =21 . cos(40°) =

KRAFTZERLEGUNG

Vorkopf | FH =16,1kN
\(\g BEMESSUNG VORKOPF

N
Q’/q’ Fv=F . sin(a)

Fr=F . cos(a)

Aerf = 179cm?

T =FH/A daraus folgt Aerf = FH / Tzul
Aerf = FH/ Tzu=16,1/0,09 =

I=A/b=179/8 =22,4cm

| ~23cm

SPANNUNGSNACHWEIS

Vorhandene Schubspannung

Tvor = FH/ Avor= 16,1/ (23 . 8) = 0,088kN/cm? < Tzu = 0,09 kN/cm?

STATIK

KULLE G.

SCHUBSPANNUNGEN

M 1:100

2008/09

BLATT: 52




